MATH 122
EXAM 03

BLAKE FARMAN
UNIVERSITY OF SOUTH CAROLINA

Answer the questions in the spaces provided on the question sheets and turn
them in at the end of the class period. If you require extra space, use the

back of the page and indicate that you have done so.

Unless otherwise stated, all supporting work is required. Unsupported or
otherwise mysterious answers will not receive credit. You may use a
calculator without a CAS if you like, but a calculator is not necessary. By
writing your name on the line below, you acknowledge that you have read

and understand these directions.

y,
Name: M ve /e

5
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1 6 1 20
2 4 2 12
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4 5 4 15
5 5 5 20
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1. DEFINITIONS

1 (6 Points). If F'(t) is a continuous function on the interval [a, b], then

/" _I(h) — F)

2 (4 Points). Assume that [ f(z)dz and [ g(z)dz exist.
(a)

/f z) + g(z ffA)c/y + fd(x

(b) Let a be a number.

/af(.cz:)dfc = A f;//X)C’éX

3 (5 Points). Let n #71 be a fixed number.

-
/m”dm = _nef Ym' +C

4 (5 Points).

X
/e'”d:c: e+

5 (5 Points).

/%dz =44/4A</%C
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2. PROBLEMS

1 (20 Points). Compute the following indefinite integrals:

(a) /7dx = i

(b)/10x+2dx = f/Oxdx + fZJ)c
= 10 fxdx + 2 dx
= 10(3:2)+2x+C = 5x4 2x+4C

(c) / 362® + 26xdr = fﬁéxla/x -+ f 26xdx
= 36 [xPdx + 26 Sy
= Bo(4x3) +26(35¢)4C

= 12x34 1BXE+C-

(d) /xde = é)&s*f‘C-
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2 (12 Points). Compute the following indefinite integrals.

(a) /25(a:+7)24dg: = ><+¥ : 3&; - =S do=dx

250 = 25 [ = 255u%) 4C = [ F)THC

(b) / (42t WX Zxe ] 2o x12 => du= (w2)dx

ax

ly 2 /é;(l-{»Z)(“H
— feéx 42x¥ /X-}Z)JX - f@udgk — et{ +( = e + C .

(C)/ 2 o =2 F =S ;j.,x“: Yy =5 da= Yxdx

222+ 7
I

X {
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3 (8 Points). Compute the following indefinite integrals.

(8) /md”“"
i

/
ff;'ZT: Xl

=341 o> s - 2y > du= 2ot = 3

- 7z
[ O = £ [ilda= 30t e 4

T -
ra

= (371 1

- w= ~x 2 =S A= —2xAx
(b) /3065‘” —2ze " dz = f3065§6ﬁ f[‘*Zx)é él)( /

= 30 [t [ (Ox)elx
= 30 j@gxe(x ¢ Jetee
_ 5@[{';@”) et +C

- éggx + éx +C
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4 (15 Points). Consider the function f given by the graph

7
Compute / fz)de.
0

% W/ané/% /m/?/mf ol e s §/ o %%M&g
&ﬂw /Z» 7/%

o
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5 (20 Points). Find the total area between the graph of * and the z-axis, between 2 = —2
and z = 2. That is, find the area of the shaded region below:

7%6 /Z%/MM A /% M»;//%/prgw
fxﬂ)g, L/XLI/ 'A//Z‘f &)= ylie)=¢
f’ff’x‘ fx%( ‘M/D“‘é /2)’)
-7 - f{[()’{é)
< “7/’7 {:/6)': /
¢/m?/w /%a /Zé// A A Y= 5.



